FHE— | &Ry EE)
{81 EE) (FrikAE X ERAY)

VuEN; VFEF4. VmER(2X(L, --,u}): [1] =[ [2] & [3] ]

[1] VEE{, +-,n}; m(1,k) #0 and m (2, k)f(N3)=0

[2] B a,6=R(3X{1,*+,n}); VEE(1, --,n}; [2a] and [2b]
[2a] |e(O,k)|<1
[2b] V& i) EN fGik)=aG k)t + b3, k)

[3] V(& i,kB) EN2 s 65 6,k:f(N2 »),f(Ns), m)=0

—E—HREBEHBPOFEE R (kM wma) ---- - 12— H116R— T E T
\V/fEFél,l; VmeR(2X1); [ [1] or [2] 1= (3)

{13 SE. HER;: 3¢€R({2,3): Fa, B8.,becER:
[1a)] and [1b] and [ [1cl] or [1c2] or [1c3] or [1c4] or [1c5] |
[1a] m(1,1) >0 and m(2,1) >0 and E >0 and H>0 and o« =E°—H"
and 8 =bH?’—a(3) EH and ¢=—2bB —b*a and
b=y [a(@)1+[a(3)1+Im (1, 1) /m (2, 1)]°
[1b] V EENo:s f(E,1,1)=E and f(£,2,2) =H and
f(&,2,1)=f(&,3,1)=/f(&,1,2)=f(£,3,2) =0
[2] 3E,HER: Ja€R({2,3}): FbER;
[2a] and [2b] and[ [2c1] or [2c2] ]
[2a] m(1,1) >0 and m(2,1) >0 and
b=v [a (@) 1+ [a(3)1%+[m(1, D /m(2, D]*
[2b] V € ENois f(E,1,1)=E and f(£,2,2)=H and
flE.2,1)=f(8,3,1)=f(8,1,2)=f(E,3,2)=0
[3] V(& i,k) EN: 1 65t i, kif(N2, 1),f(Ns),m)=0
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